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Question 1.

a. If y=3¢ +4t* -5¢t+1, find id

dt
W
-t b, find Dx[(\/'x-—4)(x2—3)] /
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c. If g(x)=2;—jﬁ, find g’(x)




d. Find the gradient of the tangent to the curve f(x)=2x*-3x+5 at

flx+h)-£(x)

x=2 by first principles using lim .
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e. Differentiate the following:
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f.Find pif #(p)=-2 and h(p)=(2p-3)’
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Question 2.

a) If g(,\:) = %-f— \/;, find L;’(é)
| V¥




b) Show that the gradient of the normal to the curve y =~ is always
X

positive and hence, show graphically what this means.

c) Find the equation of the tangent to the curve y =

( leave answer in general form)
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\gl)i If );22\/)2-.‘:@, show that %:

1++2

’2 ,for x>0
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e) Find the coordinates of the poin‘r*?;m the curve y =-2x? +x at which
the tangent is parallel to the line y =-x+5
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Question 37

a. Find any x value for which the normal to the curve y =5x-x* has a

gradient of 3

b. The tangent to y=ax’ +bx—4 at the point (-1, 1) on the curve has a
gradient of -7. Find a and 5.

c. If f(;;) 22x% =2x-1, show that f(x)+ ' (x)+ f" (x) = 2x* + 2x+1
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d. Find the gradient of the tangent to the curve f(x)=2x>-3x+5 at

x=2 by first principles using }3”3 M%L(x)
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f.Find pif #'(p)==2 and h(p)=(2p-3)’
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Q) If g(x)=>+x, find &'(4)
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b) Show that the gradient of the normal to the curve y

positive and hence, show graphically what this means.
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c) Find the equation of the tangent to the curve yzf—% al
x_

( leave answer in general form)
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e) Find the coordinates of the poin‘r“fon the curve y
the tangent is parallel to the line y=-x+5
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Question 37 .
a. Find any x value for which the normal to the curve y =5x-x* has a

gradient of 3
%(:5fbp
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b. The tangent to y=ax® +bx~4 at the point (-1, 1) on the curve has a

gradient of -7. Find a and 5.
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c. If f(x)=2x*>-2x-1, show that f(x)"‘f/(x)-*-f”(x):2x2+2x+1
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